Al Gf &8 AF & F Ml A
2016EE =& 1.3 LetgH MED
2A: HED
FM: Mo HFNO EHEZ NHFMIAHS
& SEX M2+ 2tel CEERED)
S2A-ZH () - HRAY - BES Ofl & oH JEH Hn&s2Z
& 1,054,579 938,233 116,346
< 11,072 1,210 9,862
Al 1,043,507 937,023 106,484
Mol tEAol &8z NFTHIEHS 891,743 775,397 116,346
< 11,072 1,210 9,862
Al 880,671 774,187 106,484
SEXQ M= 2tel 196,156 135,250 60,906
ANEAA= M 2el 60,906 0 60,906
101 @14l 8,786 0 8,786
4 JI2ZtHZ22HEE = 8,786 0 8,786
O M= Mgate 422X 2 8,786 0 8,786
O Jles 48,400% * 18 * 222 « 68 6,389 0 6,389
O ==+ 48,400% « 198 * 27 1,307 0 1,307
O NZA2R2Y
9,080& * 1 = 20AI2t * 68 1,090 0 1,090
201 Let24d] 42,360 0 42,360
01 At 22l 14,340 0 14,340
[ get=2Hl 12,800 0 12,800
O M=y ¢l £ 2dJ0HIM X
93,000& » 60 A 5,580 0 5,580
O Me=LHg SEDXAN X
93,000& * 40 A 3,720 0 3,720
O Me=LHg 2s& 278 & i ===
2,000& = 500A 1,000 0 1,000
O M2+ 2dR28H S22
500,000& = 52 2,500 0 2,500
0O =&l 1,540 0 1,540
O M= Mg =&
7,000& * 2 * 110 1,540 0 1,540
02 232gHl 28,020 0 28,020
03322 % HA 28,020 0 28,020
O MH2=g Myetle ¢& 2B=
3003 = 25,0004 = 33l 22,500 0 22,500
O M2 LR SN &8 2B
300& = 1,000 300 0 300
O 2 AMNAE BUREZ (LR SIA
Mz Y 2s) 5,220 0 5,220
=TI =l 600 * 20021 * 68 720 0 720
s I 2,500& = 3004 « 63 4,500 0 4,500
202 O4dl 9,760 0 9,760
01 SLHAYI 9,760 0 9,760
O M2 dy 2= 5,360 0 5,360
O 2 U 20,0003 = 2H » 50¢ 2,000 0 2,000
oz 2 80,000& = 38 = 2 « 73| 3,360 0 3,360
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SA - BAEH) - NRAY - LS 0l & o1 E o HRE2
O A2+ deae 89 2 938 24
80,0008 * 4% 53| 1,600 0 1,600
O Mol DALR Fas2 2,800 0 2,800
Oz U 20,0008 » 29 * 30 1,200 0 1,200
Oz 9 80,0008 * 2% * 102 1,600 0 1,600
D DEALR BHE el 191,498 140,598 50,900
= 7,574 0 7,574
Al 183,924 140,598 43,326
ISR 166,440 130,440 36.000
201 L2 H| 100,600 90,600 10,000
01 AR 22t 54,350 44,350 10,000
O et 45,530 35,530 10,000
O YR ZHoE ++2
2% 13,000,0009 13,000 3,000 10,000
405 Xt 3 S| 46,000 20,000 26,000
01 L SEH S 46,000 20,000 26,000
O &g =4 O DA 6,000,008 * 14 6.000 0 6.000
] 2015 SEDRA AL (S0 ) 20,000 0 20,000
O MRz Has XA s D=5
20,000,000 * 1Al 20,000 0 20,000
ANHEE S =4 12,500 0 12,500
= 6,374 0 6,374
Al 6,126 0 6.126
202 01 | 12,500 0 12,500
= 6,374 0 6,374
Al 6.126 0 6.126
01 20 Hl 12,500 0 12,500
0 SHEEAY 12,500 0 12,500
O NHHE A Z20il 12,500 0 12,500
2HH 20,0008 * 79 * 55 7,700 0 7,700
= 3,850 0 3,850
Al 3,850 0 3,850
el 80,0008 * 5% + 122 4,800 0 4,800
= 2,524 0 2,524
Al 2,276 0 2,276
Mgk gs3+e 29 2,400 0 2,400
= 1,200 0 1,200
Al 1,200 0 1,200
202 04 | 2,400 0 2,400
< 1,200 0 1,200
Al 1,200 0 1,200
01 2ol 2,400 0 2,400
0 SHE2 XA 2,400 0 2,400
O MM gsa+e 2H0i| 2,400 0 2,400
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SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
2] 80,0008 * 3% * 10 2,400 0 2,400
= 1,200 0 1,200
Al 1,200 0 1,200
Sxo NRAYBS S8 M-S 22,378 17,838 4,540
= 2,288 0 2,288
Al 20,090 17.838 2,252
yEHeLEE 29 4,540 0 4,540
< 2,288 0 2,288
Al 2,252 0 2,252
202 04 | 4,540 0 4,540
< 2,288 0 2,288
Al 2,252 0 2,252
01 20 Hl 4,540 0 4,540
0 SHEEAY 4,540 0 4,540
O S8NL2E 29 ol 4,540 0 4,540
Zel 80,0008 * 2% + 222 3,520 0 3,520
< 1,760 0 1,760
Al 1,760 0 1,760
L2 20,0008 * 3% 172 1,020 0 1,020
= 528 0 528
Al 492 0 492




